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Existential presupposition is in effect for “some x are y” statements. The proposition “some
cats are smart” means that the universe of discourse contains at least one cat who is smart.
Existential presupposition is not in effect for “all x are y” statements. The proposition “all
unicorns are mammals” means that every unicorn existing in the universe of discourse must
be a mammal, but it does not assume that unicorns exists.

Problem 1. Consider the argument: People aren’t dogs. Some people understand logic.
Therefore, no dog understands logic.

(1). Identify the assumption and the conclusion of this argument. (Use any necessary

logical connectors that may be implicit.)

Space for your solution:

(2). What kind of an argument is this: propositional, syllogistic or predicate logic?

Space for your solution:
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(3). Use the technique of analysis appropriate for this kind of an argument. (For a propo-

sitional argument: break it into atomic statements and logical connectors. For a syllogism:
draw an Euler-Venn diagram and show the assumptions of this argument in the diagram. For
a general first-order logic argument: determine objects, predicates and quantifiers, as well
as atomic statements and logical connectors, that define the structure of this argument.)

Space for your solution:

(4). Give a reason why this argument is valid or provide a counterexample showing that

the argument is invalid.

Space for your solution:
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Problem 2. Consider the argument: All unicorns are mammals. All mammals are ani-
mals. Therefore, some unicorns are animals.

(1). Identify the assumption and the conclusion of this argument. (Use any necessary

logical connectors that may be implicit.)

Space for your solution:

(2). What kind of an argument is this: propositional, syllogistic or predicate logic?

Space for your solution:
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(3). Use the technique of analysis appropriate for this kind of an argument. (For a propo-

sitional argument: break it into atomic statements and logical connectors. For a syllogism:
draw an Euler-Venn diagram and show the assumptions of this argument in the diagram. For
a general first-order logic argument: determine objects, predicates and quantifiers, as well
as atomic statements and logical connectors, that define the structure of this argument.)

Space for your solution:

(4). Give a reason why this argument is valid or provide a counterexample showing that

the argument is invalid.

Space for your solution:

5



Problem 3. Consider the argument: All unicorns are mammals. All mammals are
animals. Therefore, all unicorns are animals.

Give a reason why this argument is valid or provide a counterexample showing that the
argument is invalid.

Space for your solution:

6



Problem 4. Consider the argument: John or James was the murderer. James has an
alibi for the time of the murder. Therefore John was the murderer.

(1). Identify the assumption and the conclusion of this argument. (Use any necessary

logical connectors that may be implicit.)

Space for your solution:

(2). What kind of an argument is this: propositional, syllogistic or predicate logic?

Space for your solution:
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(3). Use the technique of analysis appropriate for this kind of an argument. (For a propo-

sitional argument: break it into atomic statements and logical connectors. For a syllogism:
draw an Euler-Venn diagram and show the assumptions of this argument in the diagram. For
a general first-order logic argument: determine objects, predicates and quantifiers, as well
as atomic statements and logical connectors, that define the structure of this argument.)

Space for your solution:

(4). Give a reason why this argument is valid or provide a counterexample showing that

the argument is invalid.

Space for your solution:
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Problem 5. Consider the argument1: The universe is a system of masses. Any finite sys-
tem of masses has the barycenter. Any static system of masses with a barycenter is collapsed
on its barycenter. If the universe were infinite and static, then every line of sight would end
on some star, thus the night sky would be as bright as the sun. The universe is not collapsed.
The night sky is not as bright as the sun. Therefore the universe is not static.

(1). What kind of an argument is this: propositional, syllogistic or predicate logic?

Space for your solution:

(2). Use the technique of analysis appropriate for this kind of an argument. (For a propo-

sitional argument: break it into atomic statements and logical connectors. For a syllogism:
draw an Euler-Venn diagram and show the assumptions of this argument in the diagram. For
a general first-order logic argument: determine objects, predicates and quantifiers, as well
as atomic statements and logical connectors, that define the structure of this argument.)

Space for your solution:

1See Olber’s paradox in A Brief History of Time by Stephen Hawking, page 58.
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(3). Give a reason why this argument is valid or provide a counterexample showing that

the argument is invalid.

Space for your solution:
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